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General Instructions :

(i) All questions are compulsory.

(i) The question paper consists of 31 questions divided into five sections A, B, C, D and
E. Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6
questions of 2 marks each, Section-C comprises of 8 questions of 3 marks each and

Section-D comprises of 10 questions of 4 marks each. Section E comprises of two

questions of 3 marks each and 1 question of 4 marks from Open Text theme.
(1) There is no overall choice.

V) Use of calculator is not permitted.

WUS-37 / SECTION-A
T EE 1 4 W T T 1 75 8
Question numbers 1 to 4 carry one mark each.

1 T HTEAABC F T T HFA £, MM AB=6.5cm, ZA=60°HRBC+ AC=11 cm &1
—an vou construct a AABC, if AB=65cn, ZA=60°and BC+AC=11cm.

A

2 TR W F TR w0 ey ow 3991 190 3.6 em, 82 am W11 cm § 1
: £ % sz of 2 ceboid whose dimensions are 3.6 cm, 8.2cm and 11 cm.

Wi

15599 = e 152

=T ImEy 25 %1 = fear e, < Swol 1 7 4 3@ Fifsw

Mean of 15 observations 5 15 I 25 is subtracted from the sum of observations, find the new

sum of the observations
4 AR FEE IEm A= E .
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29, 32, 48, 50, x, x + 2, 72,78, 84, 95
afe & AFS 1 WeTw 63 T, A e Vv W@ Ffw)

The observations in ascending order are given below :
29,32, 48,50, x,x + 2, 72,78, 84, 95
If the median of the data is 63, find the unknown observations.

TUE-A / SECTION-B

T B 5 W10 YIF & 2 3% €
Question numbers 5 to 10 carry two marks each.

T AT TS B 86 45 em? & Ao g0 SR 3R O 1 omum wmE #1 wl w5 S 2
FNR? P & dwa oi a1 & dae #1 o9 v St

An equilateral triangle of area 4.3 cm? shares same base with a square. What is the area of
square ? Find the ratio of area of triangle to that of square.

TF s F T Fif o o 10305 % s § # ol free e 18 n B 2

#onstruct a triangle whose sides are in the ratio 1: 3 5 and whose perimeter is 18 cm.

514 8§, ABCD 0% ¥4 & freh fomol AC iR BD, O W Wi #2d #1 3R LOCD=¢20 2
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In the figure, ABCD is a rectangle whose diagonals AC and BD intersect at O. If ZOCD =62,
find ZODA.

D
!\\ 6237
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The radius of spherical balloon increases from 7 cm to 14 em as air 1s being pumped into it.
Find the ratio of volumes of the balloon in the two cases.

ﬁﬁﬁwﬁmmﬁ@aﬁwﬂWwaﬂz{@ﬁ*r%lMﬂmﬁmW 2
%1 TeE@ °§ 99ERy)

State two events such that one has probability *0' and the other has probability 1" Give
reasons and support your answer with an example,

wwhﬁ,ﬁmﬁ@ﬂm%wuﬁﬁxmﬁwvﬁaaﬁﬁﬂw fasm g 2
FITT fop ot & Tt e el

In a football match, a goalkeeper of a team can stop a goal 32 times out of 40 shots by another
team. Find the probability that the team can make a goal.
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TUS-H / SECTION-C

T HET 11 9 18 H UIF & 3 3% § |
Question numbers 11 to 18 carry three marks each.

11 A, B3R Cw hwa a9 45 kg ¥1 975 A S0 B 1 3760 59 40 kg @91 B 3R C 1 efwa 797 43 3
kg &, T B %1 99 T i

The average weight of A, B and C is 45 kg. If the average weight of A and B be 40 kg and that
of B and C be 43 kg, find the weight of B.

12 T AFE 1 wei¥ia w e e fo wifae | ok wen ¥ o faenfidi gR v (1008 @) 3
e | fomfdai &t gen

10-20 | 18

20-30 | 10

30-50 | 15

50-60 | 7

60-80 | 4

Draw a histogram for the following marks obtained (out of 100) by a class of 80 students.
Marks | Number of Students |

10-20 | 18 I
20-30 | 10
30-50 [ 15
50 - 60 | 7
60-80 | 4
13 TAAAMBEFIYMAE R gD R F&I fig DJ AB ¥ 5w W@ DC & E & S fE RE 3
£l C W firerat 4 =3 Fifeg &
ar (AACF) =ar (BCFD) ¥|
A
D
F
B c E

;n figure, D and F are points on side AE of AABE. Through point D a line DC is drawn which
is parallel to AB and meets BE in <, Prove that

ar (AACF) =ar (BCFD).
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15 uF E® gW F S0 R T S0 & guiwes gifay) gnfpeee feol g fre mwr s 3
FT TR ?

Draw a linear pair of angles. Construct angle bisectors of the angles. What type of angle is
formed by the bisecting rays ?

16 TF 3d ABCD % famol O T wfo=e ®td €1 4fs LOAD =68° &, 41 LBOC 7 FifdT | 3
The diagonals of a rectangle ABCD intersectat O. If ZOAD=68° , then find £BOC.

@G onpfa #, BeEEl 2 em 3Ry em (x> y) T S I9 o figel P ik Q W Whre w1 AR 3
ST il & 3 % o= B g d Wy a2=22— 2 R F I R, o g Ff 5 swafre a5
?llmg?.ycm%l
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In the figure, two circles of radii ¥ em and ¥ cm

respectively. If the distance ‘d’ between the cen

prove that the length of the common chord is 2y cm.

P

(x > y) intersect at two points P and Q
s of two circles is given by d2=x2-y2

18 qq;wﬁqﬁu@#%ﬁaﬁwﬁnﬁzucm,mcmaﬂtz.scm%wﬁm‘3
05 cm &1 58 #ert w1 =1 st 7 i

A metallic box open at the
2.5 cm and its thickness is 0.5 cm. F

top has its outer dimension 20 cm, 10 cm and
ind the volume of the metal used,

EUS-T / SECTION-D

A T 198 28 F 7% F 4 3% ¥
Question numbers 19 to 28 carry four marks each.

?\,\_ AR 0

-10 | 10-

19 ﬁ%ﬁqwﬁwﬁfﬁmm%mwﬁammaﬂaﬁﬁm 4
' 30| 30-45 | 45-50

50-60 |

feranieri &1 9@ | g

32

18 9

6

Draw a histogram and frequency poly

on for the marks of students given below :

Marks

0-10

10-30

30 - 45

45-50 | 50-60

Number of Students

8

32

18

S

20 fog Fife fF u & aum ik ok & i @ &

#

6
Ts o IR T Aeee ¥ ey 4

Prove that two parallelograms on the same base and between the same parallels are equal in

area.

2L Sl H, %7 O SR 51 ¢ 91w gu
Sitenal W e Al FE: e 2R b

ST AB SRACE I AB=2aCR aur %= A5 4
€, I fog Fifore fiF a2 =a2 4 3128

In the figure, AB and AC are two chords of a circle of centre O and radius r. If AB=2AC and
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the perpendiculars drawn from the centre on these chords are of lengths 'a' and 'b',
respectively prove that 4b2=a2+3r2.

22 AMNO ! T SIS, & NO =3.6 cm, MN + MO =4.4 cm 3R ZN=75° %1 4
Construct AMNO, when NO=3.6 cm, MN+ MO =4.4 cm and ZN=75°

23 TF Wi Sgdd ABCD # faEu AC, <A F FHEWSG W@l ¥ <R 4
fa -
() T LCH S TRlgsT =T =97 2
(i) ABCD U&F THaH7 |
Diagonal AC bisects ZA of a parallelogram ABCD. Show that :

(i) It bisects £C also.
(i) ABCDisa rhom“s.

28 fereil o @ =9 W, T TR 73 1 wRT SR § 100 Ve g0 B AT 99 9§ ver fwar T 4
¥ T WM ¥ ®¥H 99 §WA ¥ ¥ T WEE g R AN
20 cm T 91 ¥ T B
(a) T UF H1 T 30 W T HX FT Y TR Y A T FEH F GH 0 B¢ (r=3.14,
V26 =51WMEH )
(b) T WM A I WHE & ST | 9 e yeiia SR ¥ ?

On a construction site, a deep pit is barricaded from the remaining portion by using 100 hollow cones
made of recycled plastic . Each cone has a base diameter 20 cm and height half a metre.
(a) What is the cost of painting all the cones, if the outer side of each of the cones is to be

painted red and the cost of painting is T 30 per m? (17 = 314,26 = 5.1)
(b) Which values is depicted by using recyclic plastic ?

25 2 Tl o ST ST 125: 27 ¥ 4
(@) % TR LTmGl S SFAIE|

(b)  afe 3t Bl H SR 10 om ¥, @ O e &1 e 3@ it

Volumes of two spheres are in the ratio 125 : 27.
(a) Find the ratio of their surface areas.
(b) If difference of the radii is 10 cm, find the radius of each sphere.

26 TS 6 o A, 5 m Sl 3K 0.5 m A AR i €2 ¥ = W € e W9E 25 cm, 99 125cm 4
3N SFE 75 em B 1 TH R W S & foAU fEad) €3 #1 snavasal v, sefe 9ibz o) X @
ﬁggzaﬁaﬂ#amaqw;_o o A T

A wall 6 m long, 5 m high and 0.5 m thick is to be constructed with bricks, each having length
25 c¢m, breadth 12.5 cm and height 7.5 cm. Find the number of bricks required to construct the
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wall, if it is given that cement and sand mixture occupy % of the volume of the wall.

27 T SR g4 % RN & B A 4.2 m R SRS 45 m $
(@)  ¥9% e foralt g =t A o wwat &
(b) waﬁﬁaﬁwﬁﬁmﬂmﬁaﬁsﬂwﬂaﬁﬁ o, S 1/7 e 5o w8 ¥ Swr @
T i ?
A cylindrical milk steel storage tank has 4.2 m as diameter and is 4.5 m high.
(a) Find quantity of milk it can contain.

(b)  How much steel sheet was actually used to make this closed tank, if 1 /7 of steel sheet
was wasted in making the tank ?

28 Iﬂoﬁﬂﬁfﬁ%#ﬂﬁﬂﬂ:ﬁﬁﬁ%ﬂwﬁﬁmﬁ(%ﬁﬁ}ﬁﬂémw: 4
E 0-20 [21-39 [40-60 | 61-80 '
|Frefefal @t wen [ 18 (19 |23 (20
aﬁwaﬁaﬁmm%mmﬁaﬁwﬁmaﬁaﬁmﬁﬁwaﬁm}ﬁmﬁ—
@ @ 3% TR 9w 9
(b) A UE TN GEF S wm e
© F218 %7 =% 97 f5u
The marks of 100 students (out of 80) in English speaking skills was recorded as follows :
| Markwy 10-20 12139 [40-60 |61-80
[No.ofstudents |18 |19 |23 20
If the passing marke are 50%, then find the prebability that the student choosen at random -
(a) got the passing marks. '

(b)  failed to get the passing marks.
got below 21 marks.

GUS-T/SECTION-E

(T UT8 /Open Text)
(Wgﬁﬁmmﬂ'ﬁsmﬁwﬁw SIEEMIT 8 Y & @ g 2)
(* Please ensure that open text of the given theme is supplied with this question paper.)

v - IS =@ww ek faseh @7 faa

Theme : Energy Consumption and Electricity Bill

29 mm*mﬁﬁmm%mmwmmm%mmmml 3
w,ﬁﬁﬁnmﬁmmﬁﬁﬁammmmaﬂﬁmﬁﬁﬁmﬁﬁﬁm
I HITHF @I 1500 39 T

Form linear equations for the bill amounts of offices of Delhi and Punjab for non-domestic
category. Then find the difference between the monthly bill amounts of two offices located in
Delhi and Punjab, if both offices consumed 1500 units in a month.

30 msaaﬁwwaﬁyqﬁﬁxmﬁwmﬁ,mxmy%ﬁawmﬂﬁmwﬁa 3

HifoTe |
Establish a linear equation between r and Y when 60 Watt bulb consumes x units in y hours,
—_—
¥ 400 el ¥ A= E 4
=1 Tamel) = wifEs =99 200 &
Page 7 of 8 = mm.mamﬁ;ﬂﬂgﬁﬁ%ﬁm%mmmmmﬁmﬁqw
g . T TE WA x o s 5
L S i ana and Uttar Pradesh monthly ‘;‘?‘"E‘:::m{e:‘;l;ﬁ:;rgxﬁ
Two persons mr‘-‘l‘;i[:nsl‘_:\ru?::ymr equations for the bills v for bo
200 to i
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